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ECONOMICS 
d{kk 12ohad{kk 12ohad{kk 12ohad{kk 12oha    

le; & 3 ?k.Vs                                                   iw.kkZad le; & 3 ?k.Vs                                                   iw.kkZad le; & 3 ?k.Vs                                                   iw.kkZad le; & 3 ?k.Vs                                                   iw.kkZad 88880 vad0 vad0 vad0 vad    

funZs’k%& ¼i½ lHkh iz’u vfuok;Z gSaA 

¼ii ½ iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSa] izR;sd miiz’u ij 01 vad  
     vkoafVr gSaA dqy 32 vad vkoafVr gSaA 

  ¼iii ½ iz’u Øekad 6 ls 23 rd vkUrfjd fodYi fn;s x;s gSaA 

  ¼iv½ iz’u Øekad 6 ls 15 rd izR;sd iz’u ij 02 vad fu/kkZfjr gSa] mRrj fy[kus    
           dh 'kCn lhek 30 'kCn gSA  

  ¼v½ iz’u Øekad 16 ls 19 rd izR;sd iz’u ij 3 vad fu/kkZfjr gSa] mRrj  
           fy[kus dh 'kCn lhek 75 'kCn gSA 

    ¼vi½ iz’u Øekad 20 ls 23 rd izR;sd iz’u ij 4 vad fu/kkZfjr gSa] mRrj  
           fy[kus dh 'kCn lhek 120 'kCn gSA 

Instruction :- 

(i) All question are compulsory. 
(ii)  Questions No, 1 to 5 are objective type  Questions. each sub 

questions is allotted 01 marks.Total Marks 32 
(iii)  Questions No. 6 to 23 are internal options are given 
(iv) Questions No. 6 to 15 carry 2 marks each and answer should be 

given is about 30 words. 
(v) Questions No. 16 to 19 carry 03 marks each and answer should be 

given is about 75 words. 
(vi) Questions No. 20 to 23 carry 04 marks each and answer should be 

given in about 120 words. 

  



 

iz'u&1    lgh fodYi pqfu, &         1x6=6 

¼I½ O;f"V vFkZ'kkL= ds vUrxZr fuEu esa ls fdldk v/;;u fd;k tkrk          
 gS%& 

    ¼v½ jk"Vªh; vk;  ¼c½ iw.kZ jkstxkj 

    ¼l½ vkfFkZd lexz     ¼n½ O;fDrxr bdkbZ 

Which of the Following is studies under Micro Economics - 

(a)  National Income          (b)  Full Employment 

 (c)  Economic Aggregate     (d)  Individual Unit 

¼II ½ mi;ksfxrk dk laca/k gksrk gS %& 
    ¼v½  ykHknk;rk ls   ¼c½ uSfrdrk ls 

    ¼l½ ekuo vko';drk dh iwfrZ ls ¼n½ buesa ls lHkh 

 Utility is related to :- 

(a)  Usefulness     (b) Morality 

 (c)   Satisfaction of Human wants            (d) All the above. 

¼III ½ tc lhekar mi;ksfxrk _.kkRed gksrh gS rc dqy mi;ksfxrk %& 
    ¼v½ vf/kdre gksrh gS   ¼c½ ?kVus yxrh gSA 

    ¼l½ ?kVrh nj ls c<+rh gSA  ¼n½ buesa ls dksbZ ugha 

When Marginal Utility is negative, than total Utility - 

(a)  is Maximum     (b) Starts decreasing 

       (c) increases at decreasing rate      (d) None of these. 

¼IV ½ LFkkukiUu oLrq,a gS & 
    ¼v½ pk;&dkQh  ¼c½ pk;&phuh 
    ¼l½ dye&L;kgh   ¼n½ mijksDr esa ls dksbZ ugha 

Substitutes goods  is - 

(a)  Tea-Coffee   (b) Tea-Sugar 

  (c) Pen-Ink          (d) None of these. 



 

¼V½ ifjorZu'khy vuqikrksa dk fu;e lacaf/kr gS %& 

    ¼v½ vYidky ls       ¼c½ nh?kZdky ls 

    ¼l½ nksuksa ls ^v^ rFkk ^c^           ¼n½ buesaa ls dksbZ ugha 

Law of variable Proportion is related to - 

(a)  Short run Period      (b) Long run Period 

                 (c) Both 'A' and 'B'                (d) None of these. 

¼VI ½ vYidkyhu mRiknu Qyu dh O;k[;k fuEu fyf[kr esa ls fdl fu;e }kjk   
 dh tkrh gS %& 

    ¼v½ ekax dk fu;e   ¼c½ ekax dh yksp 

    ¼l½ iSekus ds izfrQy  ¼n½ ifjorZu'khy vuqikrksa dk fu;e  

Which of the Following explain the short run Production Function : - 

(a)  Law of demand   (b)  Elasticity of demand 

 (c)  Returns to scale   (d)   Law of Variable Proportion 

iz'u&2 fjDr LFkkuksa dh iwfrZ dhft, %&       1x7=7 

       Fill in the blanks - 

¼I½       -----------------------------vof/k esa fLFkj ykxr ugha gksrhA 

        Fixed Cost not Found in ……………………….run Period. 

¼II ½     mRiknu dh izfr bdkbZ ykxr dks----------------------dgrs gaSA 

    Per Unit Cost of Production is called ………………………. 

¼III)    mRiknu can dj nsus ij ifjorZu'khy ykxr---------------------gks tkrh gSA 

    When Production shut down variable cost become ………………………. 

¼IV ½    iw.kZ izfr;ksfxrk dh n’kk esa Øsrkvksa o foØsrkvksa dh la[;k--------------------gksrh gSA 

    There are…………numbers of buyers & sellers in perfect competition.  



 

¼V½     de dher ij iwfrZ LVkWd ls--------------------gksrh gSA 

    Supply is……………. Then stock at lower price. 

¼VI ½    d̀f"k oLrqvksa ds fy, dher fuEure lhek dks-------------------dgk tkrk gSA  

   For agricultural Products Price floor is also known………...  

¼VII ½    etnwjh rFkk Je dh iwfrZ ds chp-------------------laca/k gksrk gSA  

   Wage and labour supply  have………relationship.  

¼III ½    lgh tksM+h cukbZ;s &        1x6=6 

            v 
 

           c  

i lkE; dher a nks foØsrk 
ii  vkSlr lEizkfIr b vk; rFkk jkstxkj dk fl)kar 
iii  dqy lEizkfIr c O;kid  
iv f} vf/kdkj d lw{e 
v lef"V vFkZ'kkL= dk {ks= e ekWax vkSj iwfrZ  
vi esØks f p x q ¼dher x ek=k½ 
  g dqy lizkfIr 

   ek=k 
 

     Match the columns – 

            A 
 

           B  

i Equilibrium Price a Two sellers 
ii  Average Revenue b Income and Imployment 

theory  
iii  Total Revenue c Wide 
iv Duropoly  d Narrow 
v Scope of micro economics  e Demand and supply 
vi Macro f p x q 
  g Total Revenue 

    quantity  
iz'u&4    ,d 'kCn@okD; esa mRrj nhft, &      1x7=7 

    ¼i½  th-Mh-ih- dk iw.kZ #i fyf[k,A 

      Write the full form of GDP. 



 

 ¼ii ½ th-,u-ih- dk iw.kZ #i fyf[k,A 

      Write the full form of GNP 

¼iii ½  ,l-ch-vkbZ- dk iw.kZ #i fyf[k, A 

      Write the full form of SBI. 

¼iv½  vkj-ch-vkbZ- dk iw.kZ #i fyf[k,A 

      Write the full form of RBI. 

¼v½  lhekar mi;ksx izo`fRr D;k gS \ 

      What is Marginal Propensity to consume ? 

¼vi½  lhekar cpr izo`fRr D;k gS \ 

     What is Marginal Propensity to save ? 

¼vii ½  fdUl ds vuqlkj vFkZO;oLFkk esa vk; rFkk jkstxkj dk larqyu dgk LFkkfir 
 gksxk \ 

      In Keynesian view point, the equilibrium level of income and 
 employment in the economy will be established where ? 

iz'u&5  lR;@vlR; fyf[k, &                1x6=6 

      ¼i½ fodkl'khy jk"Vªkasa ds fy, ?kkVs dk ctV lcls mi;qDr gksrk gSA 

      Deficit Budget is suitable for developing Contry.  

   ¼ii ½ ljdkjh ctV dh vof/k ikWap o"kZ gksrh gSA 

      Five years is the duration of a Budget. 

   ¼iii ½ Hkkjr dk foRrh; o"kZ 01 vizSy ls 31 ekpZ gSA 

      Financial Year in India is April 01 to March-31 

   ¼iv½ Hkqxrku 'ks"k ds vUrxZr dsoy n`'; ensa lfEefyr gksrh gaSA 

      Only visible items are included in Balance of Payment 



 

   ¼v½ Hkqxrku larqyu ges'kk larqfyr jgrk gSA 

      Balance of Payment is always Balanced. 

  ¼vi½ O;kikj larqyu ds vUrxZr dsoy vn`'; ensa 'kkfey gksrh gSA 

      Only invisible items are included in Balance of Trade.  

iz'u&6  O;f"V vFkZ'kkL= ls D;k vfHkizk; gS \               2 vad 

     What is the meaning of  Micro Economics ? 

             vFkok@Or 

  cktkj vFkZO;oLFkk fdls dgrs gS \                

     What is Market Economy ? 

 iz'u&7  mi;ksfxrk dk vFkZ fyf[k;s                     2 vad 

     Write the meaning of Utility ? 

              vFkok@Or 

  miHkksDrk dk ctV fdls dgrs gS \                

     What is consumer budget ? 

iz'u&8  iw.kZ izfr;ksfxrk dk vFkZ fyf[k;sA                                  2 vad 

    Write the meaning of perfect competition ? 

              vFkok@Or 

  vFkZ'kkL= esa cktkj fdls dgrs gS \                

    What is market in Economics ?    

iz'u&9  cktkj ewY; ls D;k rkRi;Z gS \                                  2 vad 

   What is the meaning of market price ? 

              vFkok@Or 

  lkekU; ewY; D;k gS \        

     What is normal Price ? 



 

 

iz'u&10- vYikf/kdkj dk vFkZ fyf[k, \                                  2 vad 

     write the meaning of Oligopoly ? 

              vFkok@Or 

  vYikf/kdkj cktkj dh dksbZ nks fo’ks"krk,a fyf[k,A                

     Write any two characteristics of  Oligopoly. 

iz'u&11- iwathoknh vFkZO;oLFkk fdls dgrs gSa \                               2 vad 

     What is Capitalism Economy ? 

              vFkok@Or 

  iwathoknh vFkZO;oLFkk dh dksbZ nks fo’ks"krk,a fyf[k,A                

    Write any two characteristics of  Capitalism Economy. 

iz'u&12- jk"Vªh; vk; dk vFkZ fyf[k;sA                                        2 vad 

     Write the meaning of National Income. 

              vFkok@Or 

  fVdkÅ miHkksDrk oLrq,a fdls dgrs gSa \               

   What is the meaning of Consumer durable goods. 

iz'u&13- eqnzk dk vFkZ fyf[k;sA                                 2 vad 

    Write the meaning of Money. 

              vFkok@Or 

  cSad fdls dgrs gSa \               

    What is Bank. ? 

iz'u&14- ljdkjh ctV fdls dgrs gSa \                                  2 vad 

    What is Government Budget ? 
              vFkok@Or 
  ljdkjh ctV ds nks mn~ns’; fyf[k;sA              
Write two objects of Government Budget. 



 

iz'u&15- O;kikj larqyu fdls dgrs gSa \                             2 vad 

     What is the trade balance ? 

              vFkok@Or 

  Hkqxrku larqyu dk vFkZ fyf[k;sA              

   Write the meaning of balance of payment. 

iz'u&16- O;f"V vFkZ’kkL= dh rhu fo’ks"krk,a fyf[k,A                             3 vad 

     Write the three characteristics of Micro Economics. 

              vFkok@Or 

   dsUnzh;d`r ;kstukc) vFkZO;oLFkk dh rhu fo’ks"krk,a fyf[k;sA              

    Write the three characteristics of Centrally Planned Economy. 

iz'u&17- iwfrZ dks izHkkfor djus okys rhu rRo fyf[k,A                             3 vad 

     Write three elements effecting of supply. 

              vFkok@Or  

   iwfrZ dk fu;e fyf[k;sA              

    Write the Law of supply. 

iz'u&18- ferO;f;rk ds fojks/kkHkkl dh O;k[;k dhft,A                            3 vad 

     Explanation of Paradox of Thrift. 
              vFkok@Or 
   izR;kf’kr fuos’k fdls dgrs gSa \ 
             
     What is Investment ?            

iz'u&19- ljdkjh ctV ds dksbZ rhu egRo fyf[k,A                            3 vad 

     Write any three importance of Government Budget. 

              vFkok@Or 

    ?kkVs ds ctV dk vFkZ ,oa izdkj fyf[k;sA            

     Write the meaning and types of deficit budget.  



 

iz'u&20- iw.kZr;k ykspnkj ekax rFkk iw.kZr;k csykspnkj ekax dk lfp= o.kZu dhft,- 4 vad 

     Describe the perfect elasticity of demand and perfect unelasticity of    
     demand with diagram. 

                vFkok@Or 

  ekax dh yksp dks izHkkfor djus okys rRoksa dks fyf[k;sA            

   Write The factors effecting elasticity of demand.     

iz'u&21- ykxr oØksa dh vkd̀fr  ‘U’  vkdkj dh gh D;ksa gksrh gS] dkj.k crkbZ;sA   4 vad 

   Why is the cost curve in ‘U’ Shaped always ? Give reasons. 

                vFkok@Or 

    fuEufyf[kr rkfydk Je dk dqy mRiknu vuqlwph dks crkrh gS] blds vk/kkj ij 
   Je dh lhekar mRiknu vuqlwph cukbZ;sA   

Je dh bdkbZ dqy mRiknu 
0 0 
1 15 
2 35 
3 50 
4 40 
5 48 

            

     The following table gives the total production schedule of Labours. Find  
    the marginal production schedule of Labour. 

L TPL 
0 0 
1 15 
2 35 
3 50 
4 40 
5 48 

 



 

iz'u&22- fuEufyf[kr vkadM+ksa ds vk/kkj ij vk; x.kuk fof/k }kjk jk"Vªh; vk; dh x.kuk  
         dhft,A               4 vad 

ensa     O;; ¼:- djksM+ksa esa½ 

    1- osru ,oa etnwjh    30]000@& 

    2- C;kt     5]000@& 

    3- fdjk;k     3]000@& 

    4- ewY; gzkl     2]000@& 

    5- ykHk     40]000@& 

Calculate National Income from following data by income method ? 

     Item     Expenditure (R. Crore) 

     1- Salary and wages    30]000@& 

    2- Interest      5]000@& 

    3- Rent      3]000@& 

    4- Depreciation       2]000@& 

  5- Profit      40]000@& 

                vFkok@Or 

fuEufyf[kr lwpukvksa ds vk/kkj ij GDP rFkk NDP Kkr dhft,A 

ensa        ¼:- djksM+ksa esa½ 

    1- miHkksDrk oLrq,a vkSj lsok,¡    8]000@& 

   2- iwathxr oLrq,a o lsok,¡     4]000@& 

    3- ewY; gzkl       500@& 

   4- fu;kZr       2]000@& 

    5- vk;kr       1]000@& 



 

Calculate the GDP and NDP from the following data ? 

       Items         (Ru. In Crores) 

    1- Consumer Goods and Service  8]000@& 

    2- Capital goods and Service   4]000@& 

    3- Depreciation     500@& 

    4- Export        2]000@& 

    5- Import      1]000@& 

iz'u&23- D;k vki ,slk ekurs gSa fd vFkZO;oLFkk esa O;kolkf;d cSad gh eqnzk dk fuekZ.k  
        djrs gSa \                                                      04 vad 

       What do you think only commercial bank is creation of money in Economy ? 

vFkok@Or 

Hkkjrh; fjtoZ cSad dh fdl Hkwfedk dks vafre _.nkrk dgk tkrk gS \ 

What Role of  R.B.I. is known as lender of Last Resort ? 

-----00---- 

 

 

 

 

 

  

 

 


